SAP ABAP table T5UBI {Benefit cost rule}
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* _T5UBI-LOSGR = T5UBM-LOSGR 6 N

TOO0O

MANDT [CLNT (3)]

T5UB3

MANDT [CLNT (3)]

BAREA [CHAR (2)]

T5UBS

MANDT [CLNT (3)]

BAREA [CHAR (2)]

CSTV1 [CHAR (4)]

T5UBA

MANDT [CLNT (3)]

BAREA [CHAR (2)]

BPLAN [CHAR (4)]

ENDDA [DATS (8)]

T5UBH

MANDT [CLNT (3)]

BAREA [CHAR (2)]

BPLAN [CHAR (4)]

BCOST [CHAR (4)]

T5UBK

0. N | MANDT [CLNT (3)]

BAREA [CHAR (2)]

CRGRP [CHAR (4)]

SALGR [CHAR (4)]

T5UBL

MANDT [CLNT (3)]

BAREA [CHAR (2)]

CRGRP [CHAR (4)]

AGEGR [CHAR (4)]

T5UBM

MANDT [CLNT (3)]

BAREA [CHAR (2)]

CRGRP [CHAR (4)]

LOSGR [CHAR (4)]




